Post of Forest Apprentice in Tamil Nadu Forest
Subordinate Service (Group-VI Services)

The age-specific death rate is given by
alwangsd HpLunss Qareme @iy eigrearg)

(A)\/-’i)&xmoo @ "= 1000
n P, n P
m

© =000 @) 2 Px 1000
n X n X

(E) Answer not known
efleni. Qg iluafdvensy

The life table was developed primarily to meet the needs of

Spuwjel s Leuamemt  (pgemenowrs ey Cgeweawemw  yisd  Gedw
2 (HeUM&ES I g ?

(A)/Life assurance offices (B) General Insurance offices
<QWET 2 miFl BiEnIeUSBIGET Qurg sruymdl ig)euaEhIgeT

(C) Employment offices (D) Postal insurance offices
CouamaaumiLIL) <@ 6UaV&EI&ET HEhFD STULMIS DIIeUSBISET

(E) Answer not known
ailen Gghluiefeene

The death rate used to eliminate spurious effects such as social,
occupational factors in

Fupgmih, Ggmfld whHpb @i elearsseilue Curerp fo Curalwrear efleanereysaner
bés 2 geyd @iy eisd (eigb)

(A) Crude death Rate (B) Specific death Rate
Owrss @oLiy eisb G L @miiy aigid

(Cx/ﬁandardized death Rate (D) Infant mortality Rate
HILUBSBLILCL @Dy eSsid Gphos Gl aigb

(E) Answer not known
cllen. Qgflusefdene
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4. In vital statistics n"'x = nD, %1000 stands for
n X
. . oo om, _nD .
Genfluewwrs yerel elleurmselld n’ x =—P—x><1000 TG
n X
(A) Crude birth rate (B) Crude death rate
Qetiuenflim Wiy 94ls1b Cgtinesfiicm @muiy eldlgn
(C) Age-specific Birth rate (DY Age-specific Death rate
elwengsETT Wil aldlsin cuLIengs &t @puiL) efldlgn
(E) Answer not known
len Ggflwelevenay
5. z ?
The results nq: = ——gi—(wln—;)— and m == . — are obtained by
2+n(,m'x) top
z 2n(nmj) . . 2 ndr2 . . .
ng,=_-— /3 Lpmw  m, = - U presd ahs  papuie
2+n( m*x) D,
QupriurLg.
(A) William Farr method (B)” Reed—Merrell method
efleveSwid Sumt penm f—-QwCres wenm
(C) Greville’s method (D) King’s method
Hflafevefuen panm flmicudlen wpevm

(E) Answer not known
en Qsfweiidwane
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A population have constant size and composition is called a
@@ wesd Osmemsulen Ggngly wipns wdllamer CETETG(FHSTL DFHene

eTerTeUMLD.
(A) Stable population (B)” Stationary population
o mFlwinen waseT LFTens Hlevowrer wéser dgreans
(C) Continuous population (D) Discrete population
G réfluner waser QgTans safigs EseT Herans

(E) Answer not known
ellenL QgfNwealdrena

The probability of living of a person in the age group x to (x +n) can be
obtained by the formula

x wsd (x+n) agp eauwg e Ceefllba qgpeut 2ulf eumpeughHaTar
flapsseiamear samsdlHib @b

(A)/lx+n/lx (B) (lx _lx+n)/lx

©) U ~lin) b D) L/l

(E) Answer not known
alen Ggflweievency

Adequate basis for family planning is provided by
GHLUs sL.EUUTR S LsdhE Comeuwinar SiglLemLsmaer eaflliLg
(A) General fertility rate
Qurg Wpuy aisw
(B)/Aée specific marital fertility rate
awg GMUALL Smwen Blenew Gl eisb
(C) Total marital fertility rate
Qungs Hawenr Hlene Uiy eigid
(D) Total fertility rate
Quwrgs Doy eigb

(E) Answer not known
alen Qg flweldanay
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9.  The death rate of babies under one month is known as
@@ LIFSHDGSLULL Gphassaller @nuy aisb eerug
(Ar/l\?eonatal mortality rate

“ptenus gnips @O eign
(B) Infant mortality rate
fs @puy &g
(C) Maternal mortality rate
SLiL&Te @Dy eigib
(D) Foetal death rate
WP ETEHmERFTEYSET @DLIL 65D

(E) Answer not known
ellen Ggflweiidene
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10.

Crude death rate 1s
@Quéurer @piiL 6isbd eTeLg)

A

Annual deaths
Annual mean population

T DLeTigd HULL. @D S

S|GUGUTERTIq 68 SFITET EHET LGIans

(B)‘/ Annual deaths <K

(©)

(D)

(1)

Annual mean population
@ eiTigdd FHUL L QDULsEr
x K

S|EUGUTETI.68 FTTER DE&KET CFTens

Annual mean population

Annual deaths
(I Y amg.er srnafl waser Ggrans

R(h ZpeTiq e erHULL Gl

Annual mean population <K

Annual deaths
(T < TIg FyrE &S Cgnams

x K

R &g d FHULL Golsar

Answer not known
clenL Qaflueicvency
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11. Ix° in mortality table is

auMp&ams ol Leueamuie (x° ererig)

@A) x+Tx @) x
Tx
Tx Tx
C>‘/— p) X
( Ix 1) dx
(E) Answer not known
eSlenL Gaflweddena
12.  Vital rates are customarily expressed as
Gpuy @nuy Ighse eupssons sruLhSerner.
(A) Percentages (BY Per thousand
sgaigngafled pulrhiseafie
(C) Per million (D) Per trillion
Slevadl wisttsated ig Nevedlwiarraafied

(E) Answer not known
alenL. Qs flwaldene

13. Complete count of the heads of people of a country is known as
R Bl aleTer erever weallgiaaien saasmerb seamsbah g,

(AW Census (B) Vital Statistics

&ESET QETans sarTsGEHILIL Spuy @oliy yerefl efleud
(C) Demography (D) Sampling

LDESETMUIG saml sevrsbEHry

(E) Answer not known
e Qsfluwieldane
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14.

15.

Normally a life-table is constructed for an age interval of

QUTEHEUTS DU ST DL L CUEHEITHET alwg  @ent Geuafluded
SienL&ELILHEl6rTm 6.
(A) 5 years (B) 5to 10 years
D Qu(BLEIEET O g 10 eumLriiger
(Cwyear (D) 2 years
1 eugpLib 2 eugpL_nigar

(E) Answer not known
eflenL QgRweiidane

The tool used for measuring the purchasing power of money
LeTgSler almiGLh gpeen samsdl 2 ga b &(mel
(A) Value Index
wél'ilé GHuSE
(B) Quantity Index
sreoL & @Mui®
(C)V" Consumer Price Index Numbers
parGaun eflenevd GMUIL () erasmaen
(D) Unweighted Index Numbers
T WD GO G eTarraer

(E) Answer not known
cllen Ggflweldvena
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16. The Government can make the General economic policies by using the

DATEMEIESSMT Durgeurer Qurmernsry Qararamssamen o (heunss LweTuhH S g,

(A)

(B)

W’

D)

(E)

Price Index numbers
efenew @MHuSLGlL_esmmaer
Quantity Index numbers
Slarey &M G araen

Consumer Price Index Numbers
wisTGaunfler eflevas @M G araer
Fisher’s Index numbers

Qegfler GHuS QL amaen

Answer not known
allenL Ggflusildena

17. Car is the commodity used by group of people
&M ergyild Glummef g &SI LWeTLRSsUGE D).
(AN All (B) High income
SN ETETTEY LD 9Hs au(meumil
(C) Low income (D) Middle income
LW e (HEUTL GDDHS GUHEIMUI

(E)

Answer not known
dflenL Ggflweilevena
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18. The formula for Marshall Edgeworth price Index in given by

wriage erpOeuridlen clanas @HuIiiger @sH T G LD.
¥p. 4. q.

(A) = Py 9o 3y % 100
EI)oj qm qij

%

Yp.a.: Yp.q. )2
(B) poi—[zp”q‘” sz ”q”] x100
Pojdoj “Pojdi

Y0.q.. 3pD.q.:
© poi=l[ Pidej 2P ”q”]xlOO
2\ D090  ZDP.jG;j

3D 4 .
OV = 2218%5 195D
Epoi(qo; +a;5)

(E) Answer not known
allen Cgilweddane

19. Fisher’s ideal formula does not satisfy
Gagfar @epullenr gwerumrpermed DeTeuReuameupmeT e LisdH G

Queelldane

(A) Time reversal test (B)" Circular test
sie wIHHE Cargenar &pnHél Cemgenar

(C) Factor reversal test (D) Unit test
sryentl wrHmnE Cergenar @G Congeanar

(E) Answer not known
alen Ggfluiellevena
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20. If Laspyre’s price Index is 126 and Fisher’s Index 1s 124 then Paasche’s
index 1s
oravidur  GMSLH eeir 126 ppmid  SLlasflen @GOG erar 124 erafla
Liredlufer @HIuGL B eretr
(A) 125 (B) 126
©) 120 Oyf22

(E) Answer not known
eflenL Gsflwelidvane

21. The most appropriate average to be used in index number?
GSHIE eramaaiey LweTuHSSULHD Hla 5rﬂy grref

(A) Arithmetic mean (B)Y Geometric mean
gal_(hFsrmre @enLblenew

(C) Median (D) Harmonic Mean
Qumé@ syra @eng gy

(E) Answer not known
eflenL Qg Rlwellana

22. Time Reversal test 1s satisfied when,
&Me0 THMmIF CB&rrg,m@sf eLQuTps Lisd gl
(A) PgxFy =0 (B) PyxFPy =2
(C) Fyxhy=-1 (DY Fyy x Py =1

(E) Answer not known
eflenL Qg fluiedldens
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23.

24.

The errors involved in the construction of index numbers are

GO eraraser s GLNg wifld 2 drirgh Geapurearg

(A)
(©)
(E)

errors sampling (B) formula error

wrdflufern Genp G&SH T Senp

errors in collected data (D’ﬁ the above
CeaMssliul L grelle 2 emar Menlp Cule sapliLl L Si@earsgild

Answer not known
cllen QafMlweidana

The geometric mean of Laspeyre’s and Paasche’s price indices is known

as

orevQuir whmb uradlulear ellanewsd @Muir G arsefler QuUmsE srmafl eerLg

(A)

Dorbish-Bowley’s price index number
LririSeig—Gueredluliar afleneos @ dluIL bl akr

(B)\/fisher’s price index number

©
(D)

()

Sllagpfer eflened @HluiL G agr

Kelly’s price index number
Qawaufer alanaws @Muir QL ar

Walsh price index number
curdvadler ellanad GmluIL Gl e

Answer not known
e Qgfweicvena
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25. based indices are reversible

pamsCarearn  wrhlQsadleann HaGursEserss gyreflGw
sflurang.
(A) Arithmetic mean (B)” Geometric mean
FL_(H&Feymaf Quips @ srmed
(C) Harmonic mean (D) Median
@enss sqme GenL_Hlave

(E) Answer not known
eflenL Ggflwelidwame

26. An index is said to satisfy time reversal test if
@ GOSLG erar srawmhn Corgeamaremw Blevpe; Ceiidlpg erafa
(C)  Fo/Pp=1 (D) Fy-H=0

(E) Answer not known
slen Qg flweilcrens

27. If A and B are two factors each at two levels, then the simple effect of A
at the second level of B is

paiQauratmd Granh Howsmar Qsrar. @rar@ srraflsdr A wpnw B aefld
B @rarmb fleveuier Qmé@d Qurws A e stsrpea eflenaray

@ (- (B) (a) - (1)

(M ab) - b) D) (b) - (ab)

(E) Answer not known
ellenL Ggfwelldancy
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28.

29.

30.

If the responses for treatments in a factorial experiment with factors
A and B each at two levels from three replications are, agzb; =18,

aby =17, agh, =25 and a;b =30, then the sum of squares for the
interaction AB is

paGeurambd @rarh Howsoma Garare A wppd B eedam sryefiadr o erer
smyell  Gengevanudd apety o 2 (heunssgiLer  efewereysar  agby =18,
a by =17, agh; =25 wpmw ab =30 e, adielmearey AB 6 aursamsafien
I (H &0

AV 3 (B) 4

(C) 6 (D) 675

(E) Answer not known
alen GgRNweidvency

In a 22 factorial experiment the number of second order interaction is

Q(H 2% gryenfls Gengaerier @ramemb euflens erdliT ellepeTo satlen erarantbons
SHGLD.

avb ®) 1

€y 2 D) 4

(E) Answer not known
elen Qgflweiicdena

The linear combinations 77 —37T; + Ty of three treatments is

eparny Gerseer QunpLsemear Qaran. CrpiGsm (@ Geisessdar Ty —3T; +T;
CTETLI G|

(A) acontrast (B) 0
RH (pyeT 0
<€ 1 (D¥not a contrast
1 R preT @dame

(E) Answer not known
eflenL Gagflweildeane
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31. A randomised block design has
FeUTULIY &L LSS L Sepblblenar 2 L g

(A)/I‘WO way classifications

(B)
(©

(D)

(E)

@ meuldl u@GLUTUEy

One way classification
Q(h ULl LigLILmiiey

Three way classifications
epeTm euldl LiGLLmTLeY
Goodness of fit
Qummsgseden Cebeano

Answer not known
allen GgMweldvane

32. Randomization in an experiment helps to eliminate
@@ Camgaaruila sflsweaumuiiy gpeapan @ms SHGeishE 2seudns

(A)

Systematic influences
ruster bFweurse@ Clegidss s

(BY Human biases

©
D)
(E)

weflgarmd gHu@ib A ip&s

Dependence among observations

sl Mbs wdiysessdaL CGuiwres iy
Heterogeneity among blocks
CsTEHSEREESET RES LETLDDSTE Q) (hEsE
Answer not known

eflenL Ggsflweidana
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33.

34.

35.

The term Analysis of variance was introduced by
LIMUMG UGlumime SNpsLLRSSwg

(A) Karl — Pearson (BY'R.A.Fisher
&ireb— 1N wirgedr 7. ef LG @it

(C) Mahalanopis (D) Bernouli
W& erTLIleh Qurrasrmed

() Answer not known
eflenL Qgfwelidens

The Linear model for completely randomised design is
ppawwirear goeumiitiy S sdld qm Crilwd Bienwliy erearug)

A y;=uteii=12,.,% j=12,..r,

By yj=u+a+pf+ey; i=12,..,7j=12,.r,

(C)/yij =u+r+eil); i=12,..,% j=12,...r,
D) yy=pu+a+f+yrey; i=12,.,5 =127

(E) Answer not known
eflenL Ggflweldeane

If the researcher’s interest is confined in the treatments only involved in
the experiment, then the statistical model in this situation will be
categorized as

pweurerien yreud Comsenarenr prpgipapsaie  wULHCDL  admowns
Gmparey, Q&spaild Lataflulwed nrdfleow edaimaswurs Gflssamb.

(A)‘éalysis of variance model (B) Component of variance model

wrour ( uglurie) wr ureuhulg U@Lliysetlen wmdil
(C) Mixed effect model (D) Quadratic model
seeneu ellenera| Lmdfl @mug wrdd

(E) Answer not known
cllenL GgMweldrena
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36. In a Randomized block design the following information were obtained
y1=68.4, y1.=50.9, y..=365.3, r =4 and t =6. The missing value of x is

@@ sweumily sUhsH Cergaer ewinder eSurised Gemaimuomm.
y1=684, yi.=50.9,y.=365.3,r=4, t =6 aalléd aAQuLL x & by

(A;/o.zes (B) 12.25
(CWV14.25 (D) 16.25
(E) Answer not known

elenL. Lgfuweldame

37. The errors due to the faulty planning of surveys are
Sjerleup e geuprer L NHisdlarmd aumb tdenip

(A)\/Non-sampling error (B) Non-response error
wrdflapen sryprs Wenlp udledlemenio 1Gemip

(C) Sampling error (D) Absolute error
wrdfipenp s Senp sefdenp

(E) Answer not known
e Qs flwalldened

38. If the respondents do not supply the required information, this problem
is known as
Gaemeuwnen saeudsamar uHd aflviuai Qsrfsseioame aepred ks Wrssenar
@eueurny SiPlutiLGEDg)
(A) Non sampling error
wrSfl wep argrg Genip
(B) Sampling error
T8, (perp sriHg Aenip
(CNV The problem of the non response
udle efisans Syssmer
(D) Human error
weflg WenLp

(E) Answer not known
alenL Ggflweidvena
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39.

40.

Sampling frame is a term used for
wrdflg Cairey g Lib eraybd Glamed &@ uwearuBSsLLBE DS

(A) a list of random numbers
Camymw erapraeflen cuflens
(B) a list of voters
néanerisaier euflang
( a list sampling units of a population
Qsn@d e wrdfls GCaiey @ aailen cuflans

(D) a list of samples
samisailen cufleng

(E) Answer not known
elen Ggflweidana

If the variance of sample mean under simple Random sampling,
V(¥,)p =5.5 and variance of sample mean under stratified random
sampling , V(y,)=2.5, then the gain in efficiency in stratified random
sampling over simple random sampling, is

e  sweurlty  wrdfl  apenpulid, wrhfl  &mI(HE errefler  wrmUTE,
V(¥,)g =5.5 uwpmd ueuuruey eweamiy wrdfl  pepuld, wrdf
sgal_péarraNlenr wrmur®, V(¥,) =2.5 aefle uguumiey sweumdiiy wrdf
wepulen sTwLS e Fngrrant FweTLUL (pepparL il maudlen

(A))} (B) 0.8
(CWV'1.2 (D) 0.2
(E) Answer not known

dllenL. Uaflwefdena
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41.

42.

Point out the wrong statement in the following
sl &hSgisseld seupratms aliys sramlssalb
(A) E(statistics) = Parameter
E(ahgu pemuaTeney) = (p(PewSEsTES LaimueTane
(B) Standard error of mean is o//n
gymgfluder g 1Qapp eremig O'/\/E
(C) Reciprocal of the standard error 1s the measure of reliability
Ll Wenpulleln samadl erelg BOLIGSSEHTEMD B6T@6
(D)/f%eciprocal of the standard deviation is the measure of reliability
FLL efowsssder gamawdp ereiig BLLSSSESTED DIeTnay

(E) Answer not known
clilenL Qs flweildane

Proportional allocation gives a
s uashH Qesrhlug @b

(A) non random sample (B) random sample
FOGUTWUILIL] UDD &l FLOGUTWILIL] Faml

(C)./;elf weighing sample (D) weighing sample
&L TenL & Faf)l Tl & sn)

(E) Answer not known
aflen Ggfwelldwvaney
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43.

44,

Which of the following statements does not hold good in case of stratified
sampling?
Spsaa aunsHunsaie uHams LTSN apeDsE DuTEHHSTS 6Tg?
(A) Stratified sampling i1s convenient
u@ens wrdfopep Qeandlfuinrerg
(B)\/Stratified sampling 1s always good
L@ ens wrdfipeap eriiCGurgib &l
(C) Enables to gather information about different stratum separately
QaucuiCGeuny L emssefar afasunsamer gallgsalurs Gesfigsd
(D) Reduces error for fixed cost
- EPIU9LL Geeveller Gemparw GamnSSH

(E) Answer not known
eflenL. GgfNlweidrena

In simple Random sampling, the probability of any one sample of size n
being drawn out of N units 1s

eraflu eumiitiy wrdfulle, N oarey Qeramt gpupawstsredila ‘n’ oaray
Qerar_ @@ s eT(psselen Hapsaseurearg)

@) %; ® =
1 1
© (D){]VC:)

(E) Answer not known
ellen Gsflweildena
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45, Latin square design are most widely used in the field of

g Ee FGI1y L Liorarng genmaaticy S SLnsL
LweTuhSSLLGSleTner.
(AM Agriculture (B) Industry
efleugmuib Qamfled genm
(C) Medical (D) Zoology
WD (HSHIQILD elemidlwe

(E) Answer not known
elen GgAlweilcvame

46. In SRSWOR, the variance of the sample mean is given by
SmbL meussd Qoers eratw sweuriiliy wrBlule sm Fyrefuler wrmUTE

Greifrugﬂ
(A»/Var(yn):(N ‘”]SZ (B) Var(:vn>=(N “js2
Nn Nn
. _{ Nn . —y_[(N+n)ae
©) Var(yn)—[ N+JS D) Var(y,,)-[ L ]s

(E) Answer not known
elenL Gsfwedicvensy
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47.

Under stratified random samples in proportional
Var(y,,) is given by

ufens @OnEssdla alfls unsk weapla Var(y,) eaaug

&) Var(y,) = (N - 1}% PS’

Nn i=]
N - 1\& .
Yy )é — D> PS,
(y“)ﬁﬂ mngun@[ N ]; 9,
N +1\& 2
B Var(y_) = PS.
(B) Var(y,) [ N JZ; S,

C) Var(y,) = (

5 g = (V218

(D)‘ér(? = [N]\;zn)ips.z where P, :%

st

(7,) e oryur@ = [

(E) Answer not known
aflenL Qafuefdene

23
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48. In a systematic sampling the sampling interval is
@ ki@ brdlfl aperpuie wrHf @enL Geuaft ereruig

n

(A) N (B) n
(C) nN oy ¥
n

(E) Answer not known
dlenL Qsfweicans

49. x-y

Statistic Z = ———
/ 1 1

ol —+--

n, ng

1s used to test the null hypothesis is

oM ereweusefienr Cangeen Z = xl_y - H& aThsHELsTETETLLRD @6
o+
o Ng

b THCHMET 68
(A) Hy:ipy+pp=0 (B)éoiﬂh—.uz:o

Hy:py+py =0 Hy:py -y =0
(C) H,:u =y, (aconstant) (D) Hy:0,-05 =0

H, :u=u, (¢mord) Hy:00-0,=0

(E) Answer not known
eflen Ggflwelidvanay

STATISTICS 24



0.

51.

In small sample ¢-test, the basic assumption is that the population (s)
from which the sample (s) 1s (are) drawn 1n (are)

Ami e (-Cangemansaied, wrdfl(ser) wppews AsrEd(ser) —
Q(mBg THSHILILLE (M6U) 6TETUS <SllqlILIMNL HEGDILDTETLDTELD.
(A) Binomial (B) Cauchy’s
FE(HmI 1L SFE— 6l
(C) Gamma (DY’Normal
&ML @wcblene

(E) Answer not known
allanL GgMweldame

Formula for y* in a 2x2 contingency table under Yates correction is

Cuiev Smsssder &p qum 2X2 gHlewd <L euamanruler Zz GSS b

2
N(ad—bc——];])

(A)
(a+b)(b+d)a+c)c+d)
N 2
NDad —be| - J
(B/ 2
(a + b)(b + d)(a + c)c+d)
{ad —bc - N}
©) 2
(a +b)(b + d)(a + c)c +d)
2
ad —bc - N
(D) 2

N
(a+b)(b+d)a+c)c+d)

(E) Answer not known
eflen Ggflweidweane
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52. In a contingency table, the expected frequencies are computed under

adiumimiy  sevobeusr @everiiLl Ul lguisiéd Qamas(h
saEHSL_LILHID.

(A) Alternative hypothesis H,
wrphoy erHCaner H

(B) Both Hy and H,
(C)\A\Tull Hypothesis H|,
Gew er(MCarer H,
(D) Degrees of freedom
S g GG cTaRTewlGans
(E) Answer not known
aflen Qg flweiidens
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53.

Match the following test statistic :

&Cup CarRH&sLUL_(Herer

varLeaTeneusCarT(h UG s.

(a) ¢ 1.
l

(b) Chi-square 2.
ME—UTES

) F 3.
F

@ Z 4.
Z

(@ O (o (d)
(A) 3 2 1 4
o5 4 1
© 3 1 4
D3 4 2

(E) Answer not known
ellen Qzflueideame

— Do b

Gengenengenar DB ED) L6

S2 /82
SE/S:
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54. For paired-t-test the degrees of freedom is
@anenr { Canganamuller sl igemanly sameder iy
A) n BY n-1
C€) n-2 (D) (n,-1,n,-1)

(E) Answer not known
ellenL GgRweilcrensy

55. test cannot be used for estimation of parameter or any other
value

Cengenanr  (pupenn Ggned uaruaameauCur Ceaumy gGsayd
wéiiemuGur il Qeuiu pryuirg

(AM Chi-square (B) F
MEGAUTES F
€) ¢ (D) Z
t Z

(E) Answer not known
eflenL QgMwelldvana

STATISTICS 28



56.

57.

In Chi-square test of Goodness of fit, the condition between observed
frequencies and expected frequencies 1s

s eusés Gunmss HApay Cergaendd samLdibs samebeuaTamnsEn
erdlunriy Henebleishmamisi@ b 2 6rer sL_HuuT® D& .

(A)Aum of observed frequencies is equal to sum of expected

(B)

(€)

D)

(E)

Sample variance is not an

frequencies

sa_Hps smeCeuarearflarn  Gsmensund  erdiumiiy  ienableuaaniien
Qsrepssuyib gD

Sum of observed frequencies is not equal to sum of expected
frequencies

sarLMps Smebaamaiiar Gsrenswyb ediumiiy seebleudreaster
QgrensDd SO

Sum of observed frequencies is greater than sum of expected
frequencies

sam_Es Sevebeuamaflen Cgrasmu el erdliummiy enebeudmenfia
Qzrens silsb

Sum of observed frequencies is lesser than sum of expected
frequencies

sa_Nbgs malbearafles Csrevsemwel erdiumiiy ojene Gl entlen
Carens @ammey

Answer not known

e Glgflwaeldene

estimate of population variance

Fap UreubULITang, (ppew Csrgd LreubLiguler LENRIG
SETE.
(A) Consistent (B) Efficient
QUTBSSLPen LW Spenientw
(C) Sufficient ~ (D¥Unbiased
Gungomesr Ypp&flup

(E)

Answer not known
cllenL. Qgflueidrena

29 STATISTICS
[Turn over



58. jps?= : s?~ Sample Variance

ns = 82—8’&@] UgeubULg

(A o2 (B) (n-1)o>
€ s (D54—1)s2

(E) Answer not known
aflen Qgflwelidane

59. For testing equality two proportions we can use
Qe odlsmsalCL snflpamu oiflu Lwau@b Cergeamen

G0,

(A)  t-test (B) x%-test
t-Gerganen Z—CEerrrgemem

(C) F-test (DY Z-test
F-Gsngenan Z-Gengenan

(E) Answer not known
allenL G flweidene

60. _be)?
The statistic g2 = N(ad ~bc) i1s used to test the
(a+b)(c+d)(a+c)b+d)
contingency table of the type
N(ad - bc)? o
e (S 2 _
Ljer U6 FIT&Hen 6 yd (@+b)c+d)(a+c)(b+ d) LI 6T L &l W]
@aenrTiiLCIg LIadleT euens LI Targ
(A) 3x3 (B) 4x4
C2 % 2 (D) Nx N

(E) Answer not known
eflen Qgfweiidane
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61.

62.

63.

64.

In likelihood ratio test, the range of the quotient A is
Bapssss flgs Cangamanien rrejeiler @ean Gleuarf]

(A) -1<i<1 BMO< <1
(C) 0<A<eo (D) —c<A<oo

(E) Answer not known
elenL Ggflwefdrene

In testing of hypothesis the power of test (1 - f) is given by
@@ ah&Csardr Gengamanie, Gargemeniear Hper erarug (1—5)
(A) P(XeW/H)) (BY P(XeW/H))

(C) P(XeW/H,) (D) P(Xe W/H,)

(E) Answer not known
eflenL Qgflweidene

The Maximum producer’s risk is known as

2 pugdurerdler @Lrumiger BUGUEEHLLD erar iR,

(A) Acceptance region (B) Critical region
THEE5EHS LGS Say &1 G LGS

(Cﬁevel of significance (D) Region of rejection
Sloliydare oL b MUY UGS

(E) Answer not known
eflenL GsMweilcwenc

At 5% level of significance the normal table value is

@ @ueablae ujaudear il auamarid 5% Blasssearamw wHuuTeag)
(A) 2.58 (B»1.96

(C) 1.64 D) 1.75

(E) Answer not known
aflenL GsNweidena
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65. If x>1, is the critical region for testing Hy:6=2 against H,:8=1, on
the basis of single observation from the  population
f(x,0) = Bexp(-0x),0 < x < =, Obtain the value of type I error.

2Cr m aralamer QasranL wpew QstEd f(x,6) = 8exp(-0x),0 < x < oo
Gerdlés Hy:60=2 Vs H,:0=1 & Sirey s (b ugd x 21 eafler oigen (psed

cuens Wanlpenw senT&dl_alb.
1
(131/—2

e

(A)

N o |k

-1 e
s2 D) ——
e D) e—1

(©)

() Answer not known
ellenL @sflweiicrene

66. If statistical hypothesisis “H, : 4 = y, against H, : 4> yy and u<y,”
and then it is — test.

Spssar yarefllbwed apCsralle aps ume Cangmen aransamma. “ H ) @ u = U,
Hy > py oppio p < pt,”

(A) Left tailed (B) Right tailed
@Lg apenen gl (pener

(C) Single tailed (I¥ Two tailed
@hem (pener B e

(E) Answer not known
aflenL Qgflwaidene
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67.

68.

69.

Testing Hy : ¢t = 4, against H, : i =y refers to
a(hCaner Gangenen Hy : pt = py ardlymen Hy 4 = 1y @fluug

(A) Simple verses composite (B)émple versus simple
erefludlhE erdlymear sl () cafludlhg erdlymen craflug)

(C) Composite versus simple (D) Composite versus Composite
gl (H&@ erdymen eraflwug Fl(H&@G edymer sl ()

(E) Answer not known
aflen Gsflweddwena

To test the goodness of fit, the suitable test is
Qurmsss Qebeweanw Candés Qurmsswrer Cangeamear

(A) Normal test ( Zz-test
Puweoblaney Camgenenr ZZ-G&rrg,mm

(C) F-test (D) t-test
F-Genganar t-Gergenen

(E) Answer not known
clen. Qg flueieveney

A test which is atleast as powerful as any other test of the same size is
called

@Gy somanausaran. Cangear T g ag wHp Censmargamarail Sper eumiBbsg
cratled s Comgement

(A) Best test (B) Most powerful test
28 Cangener Bla e eumiibs Camgener
(CW UMP test (D) None of the above
UMP Csengenar Cupaar ggifldeme

(E) Answer not known
eflenL Qgfweilcvens
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70. Power of a test 1s related to

Cengenanuien e Qgmiurarg) ?
(A) Typelerror (B)/T'ype II error

WP euama ey @rarLmb cuens Heny
(C) Standard error (D) Residual error
S Ui9enp aerflu enyp

(E) Answer not known
eflen QgMwelidvaney

71. The standard error of observed sample proportion P is:
sa_fluciuc L wrdfluler e9dgn Per Hifeny

@ L9 (B‘(\[@

n

© L-PR o 22
. n n

(E) Answer not known
cllewL Qgfwaldvene

72. In testing of hypothesis the level of significance is
@@?\Ganm ufGengenaruiler flpliys srarr Hlana eremiig)

(A Sizes of Type I error (B) Type I error
Psd cuans Sanpuflen emey P30 auams Genp
(C) Sizes of Type II error (D) Type II error
@b euens enpuder ieray @nemLmbd euangGanLp

(E) Answer not known
denL QsfNweidena
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73. Totest H, : y=pu, Vs. H : u> u, when the population S.D. is known,
the appropriate test is
wonstsregduiar S dewssnd CsluywCursg, H,:u=pu, s
H, :pu>pu, eaueg Cergmen Qeiiaugh@l Qurmssorar Cergmanurars

(A) t-test (B}*Z-test
t-Gengenen Z-Gangenen

(C) F-test (D) Chi-square test
F-Gangeoan @8 wibs Cargamen

(E) Answer not known
allen Qafwefdrane

74. Inlarge sample testing, if H, : u = 45 against H, : g < 45 at 1% level of
significance then the critical value is

om Quuemenm Cengearler, H,:u =45 aeushe gpu H, @y <45
Wenssream wdii] 1% 6 @ms@n Cung, sigear Siorefa@h b

(AV645 (B) —1.645
(CyY -2.33 (D) —1.28
(E) Answer not known

clen QaMweafdrenen

75. For a random sample from a Poisson P(A), the maximum likelihood
estimate of 4 is

PA)eaggw urwerer ureuelempg  eHSESLILLL  Foeumiliydrer  smmiedis,

A-alparer BUQU Hawsdsss BHNSE eremg < @GLD.
(A) Median (B) Mode

@enflaney wgh
(C) Geometric mean (D\/ﬁan

Qu(msss grmef giynai

(E) Answer not known
ellenL GQgflwelerene

35 STATISTICS
[Turn over



76. If (x,,x,,..x,) be a random sample from Poisson distribution with
parameter A, then the MLE of A is
(xl, Xyyeen xn) et FWeUTiIliLG sadle A—eeu FLHMUUTES CETarL LImLauna

ureualled Qmhs erRsalLlLg afld A—afer BLQum fewssss wdHul rarg

@A) A=3ix B) A =3x’
oV j==% D) A==%
n

(E) Answer not known
allent. Qsflweildane

77. For large samples the 95% confidence interval for € in the probability
density function f(x : 8)= & %0 < x < o is

flx:8)=60*%0<x <o & 0 ofler 5% Hapsse; < isd ey podsms
@en Qeuailwnerg QupnisndbE

@) 2 (x +1.96vn) ®) %(2i1.96«/;)

(c)/1 [1 £ 39—6-] D) %(1 +1.96vn)

(E) Answer not known
aflen Gaflwaildbana

STATISTICS 36



78. A random sample of 16 housewives has an average body weight of 52 kg

79.

and a S.D. of 3.6 kg. Then the 99% confidence limits for body weight is
(Given ¢ = 2.95)

15,0.01

16 Quamsefian gyrefl oL wrag 52 §.4. aaeyn S awssd 3.6 £.4. e
wrdfl s, sgmMer ggrafl  aosstar 99% poGsms Qe Geua
= 2.95)

( 15,0.01

(A)‘/49 345, 54.66) (B) (52.66, 57.34)

(C) (55.28, 58.72) (D) (55.28, 68.72)

(E) Answer not known
dlen Ggflwefevene

If x,,x,,...,x, 1s a random sample from the population having the density

function then the maximum likelihood estimator for @ is

1

1 ;
x,0) = e’
fx,0) = o0

PpeowsbsrEeduiadmhs X, X,,..., X, eap soeuriuly wrdfl aHdsiulider

1 4
SLigd  emiueer f(x,0) = ———e " aeémwrd, O&5 b5 Hlapeumiil
&4 f( ) oJox D & Blap Y

wHSH erenLig

(A) Zx'/n BY Zx’/n

© & /Vn () V=5
n

(E) Answer not known
cllenL Ggfwedevane
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80.

81.

82.

If mean of the sampling distribution of an estimator 7 is equal to
population mean, it is a estimator.

@m smp uradear syrefluraig (1)) sigar puowns Csrgdula syrefés

suQuefid T g HUSEH erarn sgmevTid.

(A) Efficient (B)¥ Unbiased
Smeamar Appsdupp

(C) Consistant (D) Sufficient
55CuTdlp Cungiwmen

(E) Answer not known
elenL. GgRweiidanc

Neyman-Factorization theorem states that

Qeuwafler srreflliL@ggib Casppb Fmmpeig)

@A) L= g,[tx)]/ Alx) (3) = g,[t(x)] + h(x)
(©) L= g,[tlx)]-Alx) (YL = g,[t(x)]- Ax)

(E) Answer not known
aflenL Qgflwelldena

A function of variates for estimating a parameter is called
e emmler wrflsalen LUy  LHUSIH eeaTLg  SpsTamUeDHPlEET
THMET (GHHEGLD ?

(A) An estimate (BY An estimator
@ wHUSE (h WAL mer
(C) A frame (D) Hypothesis
@ FLUL LD T Camer

(E) Answer not known
eflen Qgfwelldbeney
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83.

84.

In which distribution the sample median is a consistent estimator of the
population mean?

wyows QsrgdHler sgreflsg Qumpsseperuw  wHOIS Lrems  wrdfl
@enfleve ere| eThg LITEUEESE 2 eTeng)

(A) Normal distribution (B) Binomaial distribution
)m@ﬁ]mmu LIFGH G FFHMILIL UTeUey
(CW" Cauchy’s distribution (D) Geometric distribution
sr&&ludelr Ureued QLm&SSHDH LiTeL e

(E) Answer not known
aflen Gsflweldana

If f(x;8)=e""",0 < x < o0;— 0 < @ < o, then the sufficient estimator for
6 is

fla;0)=e" " B <x<oj—0<h <o aafld 6 Agerw Gurgorear
S rerg)

A T =32x (B) T = n" order statistic
T = Xx, T = s 8 auflews LigTLETEE
C T-= = (D)/Tz 1st order statistic
n
2.

= —L T = s auflens LaTLETE®G

(E) Answer not known
aflen Qsfweldena
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85. Let (x,x,,..x

population with mean zero and variance ¢*. Which of the following is an
expression of parameter space in this case?

) be a random sample of size 'n' from the normal

n

synefl  ysmsllwib wHmd ugeupLly O @S 2@l @UE  (pipeLn
QsrEeH WS (mHs, (X,,%,,...X,) aeumes 'n' seradrer aumiiliy sam erefd, SCip
QarhssiulL GCameneusafle ereneu LaTLeTeney Gleuafl EMlLiLg g ?

(A) 0 ={0,0°);— <0 <} B) © ={0,0%);- < o < 0}

CY ©={0,6%);0< 0 <} M) 0 ={0,6%);0 =1}

(E) Answer not known
cflenL Qg Mweldvenen

86. When the variance of an estimator attains the Cramer-Rao bound, the
estimator 1s

@@p wHOSLrafler wIYUTH &ITLI—TTel G®DHs UTD®L HOLBSTD, DHS

UL rarg

(A)/Most efficient estimator (B) Sufficient estimator
<1fs Hoeyetw wdHad L e Gungwnen wdHUSL L e

(C) Consistent estimator (D) Hypothesis
Qummsswres AL L mer T Camer

(E) Answer not known
dllen GQgfNlweiecreney

87. If (X,,X,,X,) be a random sample from N(x,o*), then which one of the
following is an unbiased estimator of u?

(X,,X,,X,) eerugy N(u,0") ereénp appan0s@sn@dl@edmpe ar@EsHULL s
arasfled, U efletr Gpp&Alwny wHS _reng GemeupueiaTaIHDIET 6T 2
AT = @X, +3X, - 4X,) B) T = (X, +2X, - X,)

©) T =(2X, +3X,) @) T="" )g * X

+2X,

(E) Answer not known
vt Qsflualdene
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88.

89.

If x,x,,..x, be a random sample from a Bernoulli population, with
parameter P, then the sufficient estimator of P is

X, X,,...x, erenug P erep uamuareney Qarame e QurGpared Lreuald @) mba
aRsstiul L wrdf ealpefier, P e Cungworer wdiil§ merg

Ix, Ex?

A T-= B) T-=

n n
(C)/T = 3x, (D) T = Zx?

(E) Answer not known
eflenL Ggflwecvenco

be a random sample from Bernoulli population with
parameter &, then the unbiased estimator for 8° is

If x,x,,.x,
X, Xy,..X, eTetp sweumiliy wrflsamerg §-g & Gnuurss Qarar Guirtperad

®ws  Qsm@Huded mr THSSIUL L aafles B —ar  GppFfunw
(CACHUL &G (bl gl o

wd LIS L aTeneu eTeLIg)

A) T, (Zx? +1) ®) = (Zx? - 1)
(n+1) n(n -1)
(C)‘Ai(&ci ~1) D) Ix, (Zx, +1)
nn - 1) n(n+1)
(E) Answer not known
dilenL Ggflwefevena
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90. Cramer-Rao inequality provides to the variance of an
unbiased estimator of ¥(8).

Symor—gres  swafled, ety Y O)earp  Gppsfwupn  wAUG L areneuufen
LIreudLIlg & Siafl&Hmg).

(A) alower bound [#'(8)]/ I(8) (B)éower bound [¥(8)] 1 1(6)
o & aroy [¥(0)]/ 1(6) o® & awroy [Y(O)f 1 1(6)

(C) an upper bound [¥(8)]/I(6) (D) an upper bound [/(8)I' / I(9)
o1 Guodarow, [¥(8)]/ 1(6) o Goe> aumoy [7(60)F 1 1(6)

(E) Answer not known
aflenL Gigflweldene

91. If T =¢(X,,X,...,X,) gives the complete information about the random
samples of size n from a normal population, the 7 is said to be
T=tX,X,..X,) eorug X,,X,..X, eamw n s@uye_w GQuobma
QTN smedmBs TH&sULLED simasg edeurhsamarbd spEwaile T <earg

25 BBSSD-
(A) Unbiased estimator (B) Consistant estimator
WppéHupn wHG L eTene Qurpsspaw SIS areae
(C)-/Sufficient estimator (D) Efficient estimator
Gungirer wH S L erenau Spermen LHUISL L eTenau

(E) Answer not known
e Qaflweicvana
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92. If the sample mean x is an estimate of population mean 4, then ¥ is:

wrdfl  erreflureng X, uwows Qsrgduldmhsg CQuouull srmsflurearg
U @er wdUSLTE GmbsTed X ererg

(A)
(©)

()

biased and inefficient (Bunbiased and efficient
Apip&d wHmb HoenwwimHn GopsHlupp wHmb Hnenwwirer
biased and efficient (D) unbiased and inefficient
“pp&s whpb Spenwuimer Gppssupp wHmb Soewuho

Answer not known
e QsfMlwelcvena

93. The critical path of the following network

(A)
(©)
(E)

1-4-5-6 B) Lp,2-6
1-3-5-8 DY1-2-4-5-6

Answer not known
aflen Ggfwelidwene
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94. In PERT, the estimated time ¢, is given by
@ PERT—d st qeone Crywn erarg,
t, + 4t +t it +4t +t
(A/ [ ) B) t = [__'L____LHHLJ
6
t, + 6t + tp]

£, +4tp +t0]
6

© 1o(=

(E) Answer not known
ellenL Gsflweicvana

D) ¢, =(

95. “The salesman should go through every city exactly once except the
starting city” is the concept of

“@Qumurf, youurL @Lsesssedr. wHdprm @LsSHe @ wan wlHGD
Qedeuans” @S BiigqILIEDL GTTLIGUIT
(A) Simplex problem
ST SHPERD
(B) Linear programming problem
CrprGam_{ siemwlilysg L& sanéE
(C) Networking problem
DenenTLs SHenrTES,
(D)/Travelling salesman problem

vwenr eSlwmumfl serss,

(E) Answer not known
eflen @z Mlweildena
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96. An assignment problem belongs to model.

B RHEE_( samssnag D@L S

(AM Static (B) Analytic
Blenavuilwicd U@L (penD

(C) Prescriptive (D) Schematic
ufpgemrasiul L S(H&SSLOTEN

(E) Answer not known
ellenL GgfMweldvaney

97. In a primal problem of a LPP, the i constraint is '=' type then the dual
has
@ psofloe Cpllud s&sliewoly drssmende —eug siGuurp =
cuenauileiTenod Fniibsg) erefled g6 @@GG)LDVLQ@@GE)&T

(A) restricted {" variable (Bunrestricted ;" variable
SLPUUTReLW I eug wrh sLEUUTLHD Ieug wom
(C) surplus variable (D) negative vanable
WNeng & Wbl

() Answer not known
elenL Ggfwalevanay

98. In LPP, complementary slackness theorem is associated with
CrprGam @ mwiiys S s sanade, Was By Gsmies Capmbd agsGearp

QgmrLryenwig

(A) Simplex method (B)¥Duality method
seflLeTpSpa D @mew (e

(C) Graphical method (D) Two phase method
QUL LD (P Bw pse (peop

(E) Answer not known
aflenL Gsflweildana
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is called if it satisfies the

n+m]

99. A set of variables [x,,x,,...x
constraints as well as non-negativity restrictions of on LPP.
[x,,%,,..%,., ] eéip wrflsafler QzrEry en Grlued SlLdid sensden

sluur@sameryd  wHmDL  Gep  GHudp  Hubseesaeaub  Hlema,
Qi OTaTTe g

(A) A solution (B) An optimal solution
@ Say P 2.5b5 ey
(CV A feasible solution (D) No solution
R0 Posps Siay SrayseThmg

(E) Answer not known
eflen Qgflwellcbane

100. The non-negative variables X, . which satisfy Za x, — x,,, = b, are called

i

X, aop @ @opuldan wiflad wpmnw Zax;, —x,., = b adues Hepe
Qaudlpg erafled, @aumern eTam BinPESMLD.

(A) Slack variables (BY Surplus variables
Blyiiy wrhlaer Wena LomHl&eT

(C) Artificial variables (D) Basic variables
Qewmens wmdleer Sigliuen wrhlaer

(E) Answer not known
eflenL GgMwelldbeney
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101. In a single sampling planr specified {N,n,c} the average outgoing
quality limit is given by (A.0.Q.L.)

{N,n,C} gpevd GHUALLURD @@ LM eam weopuler syreflurs Geuafleumm
grsden erevena erarug (A.0.Q.L.)

N+1
A =p N )Pa
(B) :pN];"’](l—Pa)
© :pNN*"")Pa
oV, NA‘,”)R.

(E) Answer not known

elenL GsMweidrena

102. For a double sampling plan, the average total inspection is given by

A am wepulld, syrefl Qurgss Cergamenuien ereumeg

erarL{hb.

(A n]+n2(1—Pal)+(N—nl-—nz)(l—Pa)
B n+(N-n -n)1-P)

(C) n, +n, —Pa])+n1(1—pa)

@ (, -nr, Q=P )+n,(1-P)

(E) Answer not known

eflen GQgflweildene
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103. In double sampling plan the acceptance numbers C, and C, are

Q@ &y ghyeLs FiLsdéd ghyeme aansar C opgn C, aang

avc <c, ®) C >C,
© C-=c D) C, = -g-

(E) Answer not known
eflenL Qgflwelidena

104. When g and o are known, the control limits for X chart are

4 wpod o wiHoysedar Asfuw Qureps Frref X ssmen sL_QLUTLE TO@OSET

CTEITLI)
30 o 30
A UCL=uy+-—,CL=-— ,LCL = u-—
W R e
® UCL=pu+-% ,CL=pLCL=u->2
«/ﬁ ’ Jn
VUL - 4 + \CL = 4, LCL = - 22
Jn
o
D) UCL = CL = LCL = y— %
(D) p+ = ( 7 “e g

(E) Answer not known
cflen Ggflwelcvena
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105. In sequential probability ratio test the lot 1s rejected if the following
inequality holds
Ligpenn Hapssea) disn Cansamarid GsmEd Hlrmasfluyse Yeramb swarumh
STTERTLONS <B{ENLOU|LD.

1-8 />1—ﬂ

(B) 4, =

A) 4, <

m

s

o
B
© 4, < 7 @) 4, = 5

(E) Answer not known
e Qg flweievene

106. The control limits for C chart is based on

C aaruLgdar sl QU () erdmeser @mﬂ?\ &irbE (héELd

(A) Binomial distribution (BYPoisson distribution
FRIHMILILL LIT6U6D UTUENeT L6

(C) Geometric distribution (D) Uniform distribution
QuBSSD LiTeueD @Cr &yrew Liyeud

(E) Answer not known
cllenL Qs flweidrene

107. Sampling inspection plans are meant for
g puieyd FU b @smars @&hl&eb:

(A) Random process (B) Process control
gaeumily Gewedpenn Gewepan sl Hrump
(C¥ Product control (D) Faulty process
2 HugHi Qummer sl GLrur® seuprer QFwdipenm

(E) Answer not known
clitenL Qg flueicrency
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108. Shewharts control chart for fraction defective is known as
QFean T G SLHlur® eueruL_sdlenar @eieurn e pLiui:

(AW p-chart
p-euenTuL LD
(C) o -chart

O -cuenyLIL_LD

(B) np-chart
np-cuenyuUL_Lb
(D) c-chart

C-auenTLIL LD

(E) Answer not known
allenL Qg Muwishldana

109. In SAS, the output of the variable ¢ is data work-one;
SAS ALl el EpsaserL HUi_gdlen c-ar AL
data work-one;
a=2;
b = 3;
c=ax*x*b;
run,

(A) 6 (B) 9
8 D) 20

(E) Answer not known
ellenL Qgflwueiidene

110. Every SAS statement ends with

peuleumm grev MEamauLd @ wueamLApg.
(A) Colon (BY Semicolon

() <ieyiieraf ()
(C) Comma (D) Full stop

swmr (,) apomryered (1)

(E) Answer not known
efenL. Qg flwellidana
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111.

112.

In SAS, the default statistics produced by the MEANS procedure are
n-const, mean minimum, maximum and

SAS -& MEANS Qsueweple Quopee gmpoiy smelsgn Gurg
Qupuueug n-Hlenew, srnad, GephsuL b, FsUL gD wLHMID

(A) Median (B) Mode
)}\mi_ﬁmw L0
(Cy Standard deviation (D) Standard error
L eflewgsibd S Yeny

(E) Answer not known
e QeRlwafldrensy

How is a variable name different from a variable label in SPSS?
wrf¥er Quuir wrHer wsiy eLwurasddmbs SPSS-é&  edieumy
wryuhEng ?
(AN It 1s shorter and less detailed
GnEu wHmb Geonbs eleurmen
(B) It i1s longer and more detailed
@& Bewr whmib Cugib effains
(C) It is abstract and unspecific
©g &(m&swLNs LHnIDL GHUAL_qpyuins

(D) It refers to codes rather than variables
wrflee eratuamg el GhuiRGsamer @GHsdng

(E) Answer not known

alen Ggflueidana
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113. In the data view 1in the SPSS data editor, each row represents
SP?SfG‘U, grey sl fluded, srey SHmsHufen geiCeuny Hraser auphiGaug)?

(AV A case (B) A data point
@G s @O Br6y Lyéafl

(C) A missing value (D) A variable
@ NHiur L iy &% 1om

(E) Answer not known
cllenL Gsflweicvens

114. In SPSS, the right path to calculate descriptive statistics 1s
SPSS & “alerssts yarefll@ued” sareflu sflwrear e

(A) Data — Descriptive statistics — Descriptives
s76 — &flerés Letafluwed — eflerésid

(B) Data — Descriptives — Descriptive statistics

76 — &dergsd — afarédsl Letafluued

(CM Analyse — Descriptive statistics — Descriptives
e = aflerdgals yareflulwud — eflensasbd

(D) Analyse —» Descriptives — Descriptive statistics
e, = darssd — afletssl Larailufuwied

(E) Answer not known
efenL Qgflwellidvena

115. In SPSS the chi-square test can be found in
SPSS @& eseaits Cergameramw uushu@f&,gﬁr’rﬁ@g@éw; Goueig s LIL g Wwed

(A) Frequencies : percentages (B)* Cross tabs : Statistics
<G eUaITEET | FH6IFHLD GOIGE S Leeman © Latatluflwicd
(C) Bivariate : Pearson (D) Single variate : Single graph
@wordl : Gwrses (% I (h euanFULLD

(E) Answer not known
elenL. GsfNweldana

STATISTICS 52



116. In a Excel worksheet function 1s used to find the rank of a
number in a list of numbers.

er&Glened L euamantd QFwallulbled ereir LILigwiedld o &Ter eramenfih@ ST Smemr
L6t (D &ty

(A) COUNT () (BYRANK ()
(C) MAX () (D) MIN ()

(E) Answer not known
eflenL Ggflweldrana

117. Right clicking something in Excel
THCgd - @ aTengwineug euag defls GQaliwe]b:
(A) Delete the object
Qunmener H&GE e
(B) Nothing the right mouse button is there for left handed people
L gl D6 BLITEHEE&SE, euag &L lg. Hurggmen eargieybd @leoane
(C))ipen a shortcut menu listing everything you can do the object
QunpEBsEE@ PhsET QFuLdsmigL S@madamgd Ul iy uUeiGLb GnisEE
(D) Select the object
Qummener CairplsH &S ng

(E) Answer not known
aflen Qgfwedidwana

118. In order to perform a calculation in a spreadsheet, you need to use a
am lfgrafld g samsda & Qaiiw Grmyu@g,g, Geuatsr(HiLb

(A) table (B)¥formula
SiL_L_uenaT GSS T

(C) field (D) variable
Ljeuid o

(E) Answer not known
clenL Qgflwealdrena
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119. Basic programme is executed by
SlglivenL gL sang HlenpCeuhmieug
(AM Compiler

(B) Interpreter

sLhenLIeT @apr_mafy
(C) Assembler (D) None of these
DjFhLIeTT @eupmieT eTgeyLbleveney
(E) Answer not known
cllenL. Glgfweddane
120. type of chart in excel is used for comparing values over
categories.
T&Glend iU L euamantd  GQFuwisliufied euensd euepTUL L WSlLILGET
wHRLD amsseT GHSs @l gamar o iflw u%@aﬂm@.
(A) Pie chart (B¥Column chart
UL eflen&sinLLbd Blyed euenguL LD
(C) Line chart (D) Dot graph
Gasm® eueyLIL LD Herefl euepqib
(E) Answer not known
aflenL. Ggflwelidhena
121. To copy all contents using drag and drop press the
Qsg dhaums LwaTLRSSH @D 2 dTaT_sEniIEmar Babo[HEs:
(A) End key (B) Shift key
& alleng wrom eSlens
(CWV Ctrl key (D) Esc key
Ctrl s Esc efens

(E) Answer not known
adlenL Qaflwelwene
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122. Another name of the pre-programmed formula in Excel is?

123.

a50Fd GsHrsdd e s igCw FiL pHgedlen wHp QUi

(A) Cell (B) Graph
= =) eUeRFLIL LD

(C)/Function (D) Range
&ty s

(E) Answer not known
elen Ggflweliceney

You cannot link Excel Worksheet data to a word document
a&0sed uanflgnar gganen erpsg Cariemeuu e Qenamés (PigULITE)
(A) With the right drag method

sflurer @@L papulLer
(B) With a hyperlink method

QD LILIT EenesTLiL|L_6
(C) With the copy and paste special commands

D Hmid RURS® DL sl Lanens@hL e

(DW With the copy and paste buttons on the standard toolbar

Hepeowirer smedlis L iguled 2 6mer Bad® wHMID U (s QLTSS T6HE @nLeh

(E) Answer not known
ellenL GsNwelevena
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124. Which of the following is not solved by the method of least squares?
&G GarhissulReretaumBled e1gs @anhs euitsas wenpuled §ids (piguTsme ?
(A) Straight line
CrprGamim
(B) Parabola

UTeUeneTey

(C) Power curve
DET GUENETEUERIT

(DWW Modified exponential curve
sEWLESILL L. HNHEEGEESD uamera]
(S &5

(E) Answer not known
aflenL QgMweildane

125. If correlation coefficient is 1, then
L (peys Ga@paller wdliy 1 erafle,
(A)  covix,y)< 0.0, B) cov{x,y)> 0.0,
(CY cov(x,y)=o0,0, D) cov(x,y) < 0,0,

(E) Answer not known
alenL Ggflweildans

126. A lock-out in a factory for a month is associated with which component of
a time series.

@@ Gsmfbsree om wresdhE ssaueL Uy QsuunLelgaug s

Qamireuflenguien LGS uded g GMNUAHeusmEb.

(A)\Arregular movement (B) secular trend
QRUPTSDHD LOMTNIFDEET Ber_asrel GuréE

(C) cyclical variation (D) seasonal variation
sphHd wrpuThHseT LI(heU&Te mmLmhi&r

(E) Answer not known
cllen Qg flueidena
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127. Which method is not suitable to measure seasonal variation?
Li(heU&Te LTHpSms Deredl. (ummssBlrans (penmwITeagi 618 ?
(A) Link relative method
Gaar o paj (oD
(B)/gemi-Average method
<enty EgmEfl (penp
(C) Ratio to moving average method
B&HD srrefuler efdlg (penm
(D) Ratio to trend method
Cursg ldls wpem

(E) Answer not known
dlen QgRweiicrane

128. A lock-out of a factory is associated with the component of a time series
@@ Osmopsrene YL OuReug erearug ahbs steveuflensullen o drerL &S558 e

Qar_yemLwig)

(A) Secular trend (B) Seasonal variation
SawrLasrew Curss, L& ey Lommium()

(C) Cyclical variation (D} Irregular variation
&PH& wIHDLD PUESDD rYUTH

(E) Answer not known
adllen Qsflueafdrene

129. A mixed model of a time series with components 7',S,C and I is
sragsQsr it eaflemser o guiysar T,S,C womb I < @mular seoly
auigeuentoliL] Sl b GmliiLg
) Izg—xCxT (B)éTxc+S><R

C) Y=T+S+C+R D) Y=TxSxCxR

(E) Answer not known
eilen Ggflwelicens
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130. Moving average method eliminates
BE@GL syrafl wenn ereng B48 2 so g

(AW Short term fluctuations (B) Long term fluctuations
Gmdu sre ghHy @néshisen BT &smew Hm ©)mésniser

(C) Random fluctuations (D) Cyclic fluctuations
gGgsasurar ghHy QDESHISET &PHF ghm @nEEtigeT

(E) Answer not known
cllenL QgMweildane

131. Method of moving averages is one of the methods of measuring
B&(HD ENTEM (pepp eThg WrnuUmi( Sjareme Serelll 2 gajb (penm:

(A) Seasonal variations (B¥Trend
L(HEUSTE IR ST Gunés,

(C) Cyclic variations (D) Irregular variations
&Lo0 & owrmuThieer R(PEISHD WImLTH&ET

(E) Answer not known
elenL QsMwelldane

132. The equation Y = aff* represents
Y = aff" eenp swerun(y) sameus)

v

(A) Gompertz curve (B)” Exponential curve
SOUM 6% GUENETEUENT IHBESGH cuaneTeuan]
(C) Logarithmic curve (D) Cosine curve
L &N GUENETEUENT $l_&eng cuemeTeue

(E) Answer not known
e Qg flueidana
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133.

134.

First difference method for isolating cycles is applicable, if observations
pertain to :

&ppd wrpurhsemer geflllubhsmeushE. s GCaupur® ep LLETLHES.
eSleuTRISET aTHFMSWSTE @(HSSP GCeuamHb

(A) Monthly data (B) Quarterly data
OIS e9leuFhiger &TEOUMIE elleurnisaT
(9) early data (D) Any data
&0 eleu ThISET T euensUITer 65U nhiger

(E) Answer not known
deni GQgflwefcancy

In ratio to trend method, the median of the trend free indices for each
period represents

dlswpm Gurse penpulledr e@p asrwsder CunéE @aer GMULCLarsaflen
@eaLflener DieTey ETETLIg

(A)Age seasonal indices (B) cyclic variation
UheusTe @GDuIHaer &LPEd WIMUTHSET

(C) 1irregular variation (D) long time variation
RUpEsHD wIpUTHSE Fer smev LommLIT{H 6T

(E) Answer not known
sl Qg Mweflevana
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135. The best method for finding seasonal variation is
LHeUSTE WIMILTL LS STamibd FDbs (PaDuTang)

(A) Simple average method

/&ﬂu_l symafl (wpenw
(BM Ratio-to-moving average method

&868 Ba@d synefl qpany
(C) Ratio-to-trend method
Cun @, g (penp
(D) Link relative method
QsTLiT 2 D6y (penD

(E) Answer not known
allenL Glgfueiidene

136. To which component of the time series, the term recession is attached?
srowbgrt Qgrir  aflesdlec aps  smpsE LpgHlae  eetn  Gamd

@ meT&aLILL (HeTerg.

(A) Secular trend (B) Seasonal variation
a1 &rew CunsE Li(Hheu& ey LommILiT(Hi&eT

(CN Cyclic variation (D) Irregular variation

FPHE wrmLTHser RUPRSHD WImILT{H&ET

(E) Answer not known
elenL Ggflwelidene
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137. Which is known as Pearl-Reed curve?

138.

&Qy Gar@ssiiuGarareupda erg Gulye- i cuenatey eram ied&ELILGHDS) 2

(A) Modified exponential curve
SHmsHwuannssiulL DHEEGEGDH eumaray
(B) Grompertz curve
STMDOUMED QUEDET eUnT6
(C ogistic curve
556 urmss euamersGaHT()
(D) Straight hine
Crir Cam()
(E) Answer not known
ellenL. Qsfweldenc

Simple average method for seasonal indices of a time series is applicable
in case of

@@ sTssmr eflesilier Lmauster GOUWUL.G aaraer srayn Cung
pep&E eralu symefl ep LweTLRE DS

(A) Multiplicative model (B) Additive model
Quum&se wrHif Fnl L6 tordlf)
(CY oth (A) and (B) (D) Neither (A) nor (B)
(A) wpmb (B) @rar@w (A) vpmid (B) @ran@n @dame

(E) Answer not known
e Qg flweldene
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139. De-seasonalising the given data means
Qa;rr@é;esﬂuL@dTaT efleursdle, LHeUsI® LGLUMLSEH GTemLIg,)
(A) Toisolate seasonal variations
QU&TE IHLTHSMET S6iTLILIOGSISE

(B)V¥ To eliminate seasonal variations

UpeusTe wrpurhsEmen B&@ge
(C) To identify seasonal variations

L(RHeusme) mmUTHSET enL WTETD &Ta)| e
(D) To manipulate seasonal variations

Lmeusme wrpurhaamen wirhbl D MLDGHED

(E) Answer not known
Men Qgflweddane

140. Quarterly fluctuations observed in a Time series represent

variations.
greg Qi euflesled, asreoung gbn @nésstseme @GHeeGL wrmum®
WIMUTH @D,
(A) Irregular variations (B) Cyclic variations
RUEISHD WIYILITHEET a8 rmLTHiser
(C) Secular trend (DWSeasonal variations
Berare Curgs LI(THeU& T LOITMILIT(H&ET

(E) Answer not known
clenL Qafwicidene
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141.

142.

143.

The function y =a +bx +cx® +dx’ represents

y=a+bx+cx’+dx’ eanp sy HI9Geug

(A) Straight line equation (B) Exponential curve
CrrGamL_iq el Fwemm) P& QaTLT eueneTeuEnIT
(CW” A parabola (D) All the above
(5 LITGUaETIILD Cuphamdlu Bjenerdg)ib

(E) Answer not known
eflen @Qsflweiidvana

y=ab” 1s called

y=ab” eearug

(A) power curve (B)” exponential curve
Speir cueneTeuanT 3H&E&S GO cuaneTeuanly

(C) parabola (D) normal curve
LITelenarylid Quables cuemera,

(E) Answer not known
ellenL Qg flwelebane

If r is the correlation coefficient in a sample of n pairs of observations
then its Standard Error (S.E) is given by S.E (r) =

n Qeansamer wrfluns ahss U Oneys Qsup r aaumg samLHbsded g6
S nGeyp S.E (r) =

—r? 1+r®
(c/lﬂ @) 2L

(E) Answer not known
alilanL Qg Museilcoena
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144. The limits for Karl-Pearson’s co-efficient of skewness is
arie-ureveaiiar CarlL Qaueiler euampupam erédrene ereaLg)

@A 0,1 (B) G1, 1)
© 3,0 (DY'(-3, 3)

(E) Answer not known
ellent. Ggflwefcvane

145, If x and y are two random variables then o?, is
X opmib Y ererLigl @k soeumditiy] wrflser aald 07, eeatug)
(A) o, +0,+2r(x, y)o, o, B) o,-0,-2r(x, y)o, 0o,
(C) oi+ol+2r(x, y)o, -0, (D)/af +0!-2r(x, y)o, -0,

(E) Answer not known
sllenL Gsflwelideanc

146. If r(x, y)==1, then the angle between two regression lines, is
rix, y) =11 aalle, @ran® o La@sriy Garhserss @eriulL Gamemb,
(A\/OO | (B) 180°
(€ 90° (D) 45°

(E) Answer not known
clen Ggflwueiidena

147. The standard deviation of 2, 5, 8, 11, 14, 6, 12 and 10 1s
2,5,8,11, 14, 6, 12, 10 ererp eNeugrusefien S L alewssd

(A)/ J14 B) V15
(€ 13 D) V20

(E) Answer not known
dflen GgMweiicrens
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148.

149.

If a data set has an even number of observations, then the median
sTeys Gemeuled @rierluesL oarafisasorer sarLdps wdoysdr
gimBsTod, @enLHlanouwirerg
(A) can not be determined
» Srorefiss Guers
(B) be the average value of the two middle items
@rar® BOssT eTavrsafan grmefl wHiy
(C) must be equal to the mean
Trefé@ Fwre @mes GeuaTHib

( be the average value of the two middle items are arranged in
ascending order
gneaflaslieo oemwvssuul L Qgrifear @rar( BOSST eramsaiear Frmafl
iy

(E) Answer not known
aflen Qgflweficvaney

The value of Karl Pearson’s coefficient of skewness is
srired Gwireaflar Caml L &0supeller gy ererug
(A) always positive

eriGuimgd Ciroenmw rearg
(B) zero

LHBBIWLD
(C) always negative

LGUTHID erdliToenmTeng)

( positive or negative or zero

Cpiioenm, arélifnann Dwewg Umsluinrs E(mesod

(E) Answer not known
sllev QsMuefdrene
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150. Which measure of central tendency is not rigidly defined?
@ wGUTEE Slamameusaiey ApSpauHD cuTLNSSH Bowrss g

(A) Mean (B) Median
e @an_Hlenq

( Mode (D) Geometric mean
wps®H Qupéss srraf

(E) Answer not known
edlen GafMlwsildene

151. If B, >3, then the distribution is called

B, > 3eaefled, ugeue T SanpsaliBib.

(A)/Leptokurtic (B) Mesokurtic
Blenass 1 eoL Puablama slaL

(C) Platykurtic (D) Symmetrical
GEODSSL_ML E&EyTEang)

(E) Answer not known
cflen Qgflweidene

152, If M,,Q,D and P stands for median, quartile, decile and percentile
respectively, then which of the following relation between them is true?

QeLfleow, sréewrer, udeaorar, sswrear @eaubdepn M, Q,D,P ey
GSHUARHCoTL. SeupmsE QoL Guwrer Geareumpbd  Qamoiyseid  org

2 GG LD TSI
(A) Md:Q2:D6:P50 (B) Md:Qa:D5=P75
() Md=Q2=D4=P50 ( Md=Q2=D5=P50

(E) Answer not known
allen_ Ggflweildeane

STATISTICS 66



153. A cyclist pedals from his house to his college at a speed of 10 km.p.h. and
back from the college to his house at 15 km.p.h. Find his correct average

154.

155.

speed.

ROeuT serg el glEps  sonilse assddld  wanflas

10 &L,

A=)

Caussdaud BanBib so@riiillambg 4@ wearllsae 15 4.6, aam Ceassdaibd

Qeanprir erafled sjeufler sflwner grraf Ceusb ereucueray?

(A) 12.5 k.m. per hour
werflsE 12.0 &.18.

(C) 10 k.m. per hour
waflss 10 £.15.

(E) Answer not known
dllenL Qg flwailevenen

Mode can be computed from

&0 @serepab HasdlLLiLeTLD.

(A) Frequency polygon

aableuesr LESHTeTR &ET

(CW Histogram

Hedleus efleTdsl) LL LD

(E) Answer not known
e Ggflwalcvana

(BY' 12 k.m. per hour
warllé@ 12 .18,

(D) 15 k.m. per hour
weflése 15 .15,

(B) Frequency curve
Semabeuay auanarGam(

(D) Ogive

PG

Which of the following relations among the location parameters does not

&C Qar@pésiul_Gerer QamTysaie QL siwney &L HHUY HORTHSH 6Tl ?

hold?

(A) @, = median
Q, = Qe_fow

(C) D, = median
D, =@a_fleoe

(E) Answer not known
aflen Ggflueidvene

(B) P, = median

P, =@ flow
(DY @, = median
Q, =@ fow
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156. If @, =30 and @, =50, then the coefficient of Q.D. 1s
Q, =30 wppw @, =50 QunésEwramsd sisalar srowrer dfosss0serars
v 25% (B) 50%
(C) 75% (D) 100%

(E) Answer not known
allen Qsflweddane

157. The various of first n-natural numbers is

Ws&® N-Que eramsaflar wrdlureang

n’+1 (n+1)°
@) 12 ®) 12

n®-1 (n -1)’
(O/ 12 (D) 12

(E) Answer not known
el Qsflwelidvana

158. A graph of cumulative frequency distribution 1s called

et Flapbleudm UTeUISSTET GuUaTUL LD ereueU e pdaliL{aug

(A) Frequency polygon (BY Ogive curve
BlapGeuam LGaTemTLD PAMHEU CUENETEUENIT

(C) Frequency curves (D) Pie-diagram
Blapbleus cuaneraueny eul L ederdasliLiL b

(E) Answer not known
alen Qzfwefdene
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159. Histogram can be drawn only for
uyeued Qecueus efarsasuuLd GsH@& LLGGWL eumTw piguid

160.

(Al
®)
©)
D)

()

continuous grouped frequency distribution

GgmLredlwner Qam@ssliui L HameblasRT LTl

discrete grouped frequency distribution

QarLrsflwupn Qgr@sasul L Senabeua Lreued

individual data

safgg adlumid

both continuous and discrete data

Gamréflwrer wHmbd Gerrédwupm eSlurmsedr opdu @rearHib

Answer not known
ellen WgMwelwena

Data collected from government records is known as
2ygmig LS GCausallds @mba THEELILHL STUHET BeE

(A
(C)

(E)

Secondary data (B) Primary data
grarLmb Hlene gre|ser Ppgd Hlevew srayser
Seasonal data (D) Qualitative data
Li(heU ST6 &6 &eT uerLsaflen greyser

Answer not known
aflenL Qgfluiefcrency
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161. Which of the following statement is false?
YeiTau(pd sapbled 6TE Seupanig)?

(A)/Statistics stands merely for business data alone

(B)

©

(D)

()

yereflullwe suanllas sraismer wi Hib @&MéHepen

Statistics also stands for methods used in analysing data
yereflullwed  greyseners  uglumiey — Geleudled  uwatLRSSUILED
perpEmaruib GHESDg)

Statistics must be numerically expressed

Heratufwed eramsafan ppeons GeuallliuGssiiu. CeuarrHib

Statistics laws are not exact

feraflulwe edlflser sflwiremeney e

Answer not known
aflenL Qg flwelidana

162. Two unbiased dice are thrown. The expected values of the sum of
numbers of points on them is

@ FweumULIL] USML&ET &@T_LUREDG. AHO(mbE FanLsasl Qupm eeamseter
gLl (s Csmenauden senflgeiwed erdliumring wdiy

(A)

7 2
2 B3

o 7 D) 5

(E)

Answer not known
elen QgMweldana
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163.

164.

165.

If x is a random variable, E(e*) is known as

x g eweamiitiy wih aafle E(e”)-aw siopssiu@es

(A) Characteristics function
Sl gmiry

( Moment generating function
AuusSpaum ey

(C) Probability generating function
Bapssel Hneim iy

(D) Cumulant generating function
&edley Slmenim iy

(E) Answer not known
eflen Gzflweiiceme

If var(x)=1, find var(2x +3)

@i var(x)=1 eaflew var(2x £ 3)er wHuurars
A 5 (B) 8
V4 D) 2

(E) Answer not known
aflen Ggflweiidenc

15

If a, b and ¢ are constants then E[ax +b] I

c

wnflllaedr a, b wpmb ¢ yHwuemes GepLiDen E'(

.:g;b@')d).

(A) E[Ex]w(b) B) LE(x+b)
C

©) E(ax)+E(®b) ( %[aE(x)+b]

(F) Answer not known
MenL Ggflueidana
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166. If X and Y are two random variables with means X and Y
respectively, then the expression E[(X - X)(Y-Y) is called

X vpgw Y @rane soeuriniy wiflser, sioesald sl @ syrefl X wpmin Y
papGu, ameausafear Garaeu E[(X—)_()(Y—i_’)]emu SiePp&SLL(H g

(A) variance of (X) (B) variance of (Y)
wrmur® (X) wrmur@® (Y)

(()/ cov(X,Y) (D) Momentsof X and Y
@eamwrmur® (X, Y) Hwuydper X womb Y

(E) Answer not known
ellenL Gsflweicena

167. For the following probability distribution dF =y, -e™dx ; —oo < x < oo the
value of y, is

80 Fswpssa; Lpeud Qar@ssiul Qererg dF =y -6 dx ;-0 <x <o @bl
¥, -ér wdllumang:

N ® °

2

5
© 5 D) 1

(E) Answer not known
cflenL Ggfweildwame

168. If V(X) =3, then V(2X +4) is
V(X)=3 aafled V(2X +4) -6 wdiuy
(A) 8 (B) 10
12 (D) 14

(E) Answer not known
cllenL GgMweiicrens
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169. The relation of cumulative distribution function with joint p.d.f. F(x, y)

170.

of two dimensional random variables X and Y 1s

Q@ uflwres sweurwdiy wrhadar X wHmb Y e @earr Blapssa Gebey
SITITLIGV 68T F(x, y) &G s Gelley LrauQIs@GD o drer CsrTumearg

o0 oo

() Flx,y)=]|[F ydedy (B Flx,y)=]|Flx, y)dx dy

—00—00 —aa—o0

©) Fy)=[[F& yydcdy  OVYFx y)=[[F(x,y) dxdy

——0— 00

(E) Answer not known
aflenL Ggflwelevana

A random variable X has the following probability function :
Valueof X, x:/0|1[{ 2|34 |5]| 6 7
plx): O|k|2k|2k 3k |k2|2kR2|TR2Z+E

The value of ‘£’ is
Spsaa X eremm sweumiiliny wrPllian flapsse| grmy desr@sstiulfdrang.
Xerwdoy, x:({071, 2131 4{5]| 6 7

p(x): O|k|2k|2k|3k|k2|2k2 | TRZ+E

Qdeé ‘k e wdiureag

1 3
AY — B =
( ,/10 ®) 10

7
O — D)1
(©) 0 D)

(E) Answer not known
eflenL QsMuwieildvane
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171. Given that P(A)zy, P(B)=%, P(A/B)=y, the probability P(B/A)
1s equal to

QarRésILL L P(A)=y, P(B):%, P(A/B)=y, aafle  Hapssal
P(B/A) @ swwreng. -

@ b ®) 3,
C ®

(E) Answer not knoWn
cdenL QgRweiidwans

172. If a bag contains 4 white and 3 black balls two draws of 2 balls are

successively mode the probability of getting 2 white balls at first draw
and 2 black balls at second draw, when the balls drawn at first draw
were replaced is:
@ euufler 4 Geustener WHML 3 &@HLL UBFIEEET o dTeran, Hfld @y
LpgIbadT 2055058 BHwan a@sGLEUTE, s pep THES LBSIESH
BSarho euwdld Cerggell L floauld, @rarp GCeoudemer LbEZIGSET (PSSO
penpwrs wHmibd @rerh s@HUL Ubgissamer @raTLmbd (Wpenpwns ef(HULgSDHETer
Hapsseimeng

@ % <:=;>/1/7
© ¥ M 2

(E) Answer not known
aflenL. Qgfweldanen
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173. A number is selected randomly from each of two sets

174.

{.2,3,4,5,6,7,8}
12,3,4,5,6,7, 8, 9}

The probability that the sum of the numbers 1s equal to 9 is
CerRsstiuc (erer @ ra() &emThigeT

{1,2,3,4,5,6,7, 8}

{2,8,4,5,6,7,8,9} Smpbs eamsmar sweuriiy wpopled Gsiey Qsuub
Qumpg. eramsafien gal (B CQgrens 9-UF&E Fowrs @EMUUSHETET HlapsseITang)

(4) 8/91 (B) 7/72
(C) 14/81 (W7/64

(E) Answer not known
dflenL Csfweddena

If an event B has occurred and P(B)=1 then the conditional probability
P(A| B) is equal to

B aap fspe; ppdmps Cogid P(B)=1 aafle sigar flupseman Hapssal
P(A|B) syens

w7’ P(a) (B) P(B)
(C) Zero (D) One

(E) Answer not known
aflenL Gsflweiicvency
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175. Bay’es probabilities also known as

Cuuwélesr Hlaspssessr eTeTmIh yenLp&aLiLi(Hdlarmen

(A) Conditional probabilities (BY Inverse probabilities
Bugsemer Hlaipsse|ser soadp flapsaeser

(C) Simple probabilities (D) Joint probabilities
eraflu Hlspsseyser LQemenhs BlEpSs6|s6T

(E) Answer not known
e Qgfwelidena

176. Ten numbered balls are placed in an urn. Numbers 1 to 4 are red and

numbers 5 to 10 are blue. What is the probability that a ball drawn at
random from the urn is blue? '
Lsg aRmsmers WetanL erarantiGasulionan LbgIGET @b Gameanuild 2 daTg.
Gl 1 W5 4 e aamaedr Gararr feuliy LbSSEHD WHHID 5 WSS 10 el
canser Qsram. B UBGEERD @@ Goumauld o deaer. SHdmbE e e
ubeng F0 eumiliy apeepuiler Geuamaruiledl(mbg eT@lILgDaTeT HlSpss6]

A) 0.1 (B) 0.4

(Cw)/ 0.6 D) 1.0

(E) Answer not known
cllenL Gsfweildena
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1717.

178.

In a library there are 40 percent Mathematics books and remaining 60
percent science books. It is known that 2 percent of the mathematics
books are in Hindi and 1 percent of Science books are in Hindi. If one
book is taken out at random and found to be in Hindi the probability of
that 1t 1s Science book 1s

@ mrossded 40% saflls vpmbd 60% sNdwued ysssnsd o derer.
sasai® 2% saflls yssewpb wpmw 1% helwud ysssupw @bHudd
TPBIULL el Fd @ LSssSMS FL UTLLL WPepuild THEGL ULgssld
28 QB uyssswres @muler, =g siflellwd Usswns @ pUugHsTen
fl& g seuTeang:

® % Lgl
© &, ™ Y

(E) Answer not known
aflenL WgMweiiwana

For a post in a factory, husband and wife both applied. The probability of
selection of a male is %) and that of a female is %3 The probability of

selection of only one of them is:
@@  sbluaiuie  Camessts  saweuet  LHMID  wweared  @)Heu(HLD

efemerTiAggieranart. b pemewr Caie) Gelicughanear Hlapssey % LoH M) LD

Quemtenamr  Csirey Geuleugpanear Hlapssey % aailed, HHed Heueny WL HID
Garrey Gelieugnarar Hapgsaauneang

@ . ® 4
© 8 (0»/%‘5
(E) Answer not known

aflenL GsfNweidens
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179. The probability that a student passes a physics test is % and the

probability that he passes both a Physics and an English test is %

. - . 4
Also, if the probability that he passes atleast one test is = then the

probability that he passes in English test 1s,

@ wremeusr @uimue Czreflds Qeupd GQup Hapssal % wHOD Gubeue
4
oMb EHon  Hu  @pamgaib Geupdl Cup Hapssey 1—5 GLogyib

4
Gopbsul s gCsaud @@ Gzrele GQeaupfl Cup Fepssey s eraflev
b wrenreusn Y ridlod GCsraller Geunid Cum Hlapsse,

A) 0 (B)

' % (D)

(E) Answer not known
dflenL Gsfweilcrene

O~ O+~

180. Events S and T are independent with P(S)< P(T), P(SHT)=% and

P(S/T)+P(T/S)=1, then P(S) is

5

S vpgw T eap em salss Repsflsaie P(S)< P(T), P(SF\T)=%5.
wpmp P(S/T)+P(T/S)=1 eafler P(S)-an ndu@emar srem.

1 1
@ o ®)
(©) 64 afg’

(E) Answer not known
cllenL Qg flueferena
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181. What is probability that a value chosen at random from a particular
population is larger than the median of the population?

@ GOHubrL Csmgduladmobs <igear @eaLflaadd idsorer e wlamu

182.

183.

GCairay Geeughsanar HlaDsse eremer ?
(A) 0.25
(C) 1.0

(E) Answer not known
ellenL Ggflweilcrenay

(B‘%f)

(D) 0.67

If P(A):% and P(B)z% and the events A and B are independent

then P(AnB) is

8 9
P(A)=—; P(B)=— hmid - A
(=5 P(B)== wopps
P(An B)=
(A) 0.15

() 0.75

(E) Answer not known
alen Qgflweldane

F-distribution was invented by
F-upeued wrpmed sar®Gigssliu L g ?
(A) R.A. Fisher

R.A. Qévevur

(C) W.S. Gosset
W.S. CanrQeL

(E) Answer not known
allenL Qgfwelildane

79

wompd B ertupy Hepsfsedr  erafled

(B}65

(D) 1.00

(B%V. Snedecor

G.W. QeanrQLs&am

(D) C.R. Rao
C.R. gréu
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184. The relation between statistics ‘¢ and 7’is
‘T womd  y° eleursden o meaireg)
& =y B) # =z
© t=x D =1

(E) Answer not known
dllenL Ggflweilcrenay

185. The moment generating function of chi-square distribution is

& eurGsL ureuellen SpLLSHmener 2 (HeuT&@GLd FTiL

(121)1 —2)" B) (1+2t)"
(1 -2t)"" D) (1-t)*
(E) Answer not known

silenL GgMweildana

186. The test is used to test the population variance is

wppew GamEgduiler wrmpum’aL. Gsrdlés o sab Cengearnurarg,

DHGHLD.

(A) t-test (BY *-test
t-Gergenar ¥ -Gsrgean

(C) F-test (D) K-test
F-Gergenen K-Gangenar

(E) Answer not known
cflenL. Qaflweidena
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187.

188.

Karl Pearson’s coefficient of skewness for y* distribution is

e aidsl Lreugisster sTid Wwursalar CamLsblasyp

2 2

z B -2

@ 2 ® -
2 o 2
n n

(E) Answer not known
elen Ggflueidensy

The standard normal variate z with mean 0 and variance 1 then M ()=

z aranp srwrer Queableman ugeudar syrefl 0 wpmb ureupuy 1 eafld M, ()=

(A) e (B) e +t’c®
©) e +t;’ (Dﬁz

(E) Answer not known
adlen GgMuwefeana

189. A normal distribution the points of inflextion occur at

e Pudflee L euameTe) THOL Ban GLmb Lerefl eremLig:
Q&Y X+o B) X-o
C) X+20 D) X-20

(E) Answer not known
dllen Qaflweldana
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190. For a normal distribution mean is 2 and variance is 4 then z, will be
@@ Quablene ureuelen syrefl whHoy 2 vomb wrpurh 4 eefier K, ér LY

(A) 16 (B) 64
(C) 80 (Y48

(E) Answer not known
eflenL GlgMwelldaned

191. If X ~U(12, 18) what is the variance of X?
X ~U(12,18) erafler X e ommur(

=
@A) 1.33 (B){.OO
(C) 2.08 (D) 4.08

(E) Answer not known
dlen GaRNwieilcrana

& @ mEGLD.

192. The mean and variance of standard normal variate is
7 @ueblene wrduler grmef wHmib wrIRUTHESET WerpGw

(A) landO (BY' 0 and 1
1 opms 0 0 opmid 1
(C) u and o? (D) 6% and u
U opgd o c° whpid U

(E) Answer not known
eflenL GgMwselidvenay
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193. The mean of Hypergeometric distribution is
BAumss uyeuader sl (B syreflwrerng:

N(m-1) M(M -1)
A mNoD ® NN

(E) Answer not known
elenL Gsflueiiwena

194. Binomial distribution tends to poisson distribution, when

FHMILUIL LITeUE UmbEner ureuane TLGLITE el uwb

(A) n—)oo,p—)%andnpz& (B)%oo,p———)Oandnpzﬂ.
n—)oo,p—)%w,r_f)gjfnnp=ﬁ n—oo, p—0 opgw np=A1

(C) n—0,p—>0and np—-0 (D) n >, p—>oe and np—>1
n—>0, p—>0 vppb np—0 n-—>e, p—o whmb np —1

(E) Answer not known
sllenL Qs Mwedevency

195, If X and Y are independent poisson variables such that
P[X =1]=P|X =2] and P[Y =2]= P[Y = 3] then the variance of X -2Y
X wppo Y eep saflss umisrer ugeudé snaun@adr P[X =1]= P[X = 2]
wipb PlY =2]= PlY = 3] aremp floauda (X - 2Y) W wrpun® aews

(A) 10 (Bﬁ
C) 12 D) 11

(E) Answer not known
eflenL Qg flweildrana
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196. Restriction on parameter of a poisson distribution is that must be

umignenr  ugeuelle  uemuaTeney Sl (HUUBSSLLLLSTE  @IpLGeT,  bS
LI 68T L aTen 6L

@) A=0 (B)//bo
€y 4<0 D) 1=1

(E) Answer not known
clen Gsflweiicvena

197. The mean and variance of a binomial distribution are 4 and 2
respectively. The distribution is

& FEROILILL ureueder aymefl whmbd ureudLgsea (panCu 4 whmb 2 I ermd

SILLTeTETE)
(A/B(S, %) (B) B(16, %]
o el o e

(E) Answer not known
cllenL Qgflweidene

198. 1p x ~ b[16, i) then the mode value of this distribution is

X ~b(16, i—) erafléd, @uureualar wa@ wHiuTag

(A) Mode =3.25 (B) Mode =5
sH = 3.25 Wpa&H = 5
(CM Mode =4 (D) Mode = 5.25
wash = 4 &b = 5.25

(E) Answer not known
aflen Qgflwelldbene
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199, The mean and variance of binomial distribution are 4 and %
respectively. The value of P(X >1) is
FEROILIL Ureuelielr grmafl whmid wrpumtiger wHiysear wpapGu 4 wHmb %
aafleo P(X 21) ar wiy
28 1
AY — ) B) =
a2 ®) -
2 326
Cc = D) 22°
(©) 3 (D) 59
(E) Answer not known
afleni_ GzMwelidens
200.

The mean and variance of binomial distribution are 4 and %

respectively. The p and ¢ values are

@@ mmmily upeuedler gymefl whmb wrmurbsdr peanpGu 4 whpwb % erafled p

wHNb q & wHiiLsEr

1 2 1
A 1 g[,_
(A) 3 (

(C) 0,1 D) 1,0

(E) Answer not known
e Glgfweldane

| bo
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